Problems

Calculate the degree of freedom
For next problems mechanisms

Four-bar linkage examples

Anti-parallel 4-bar



Straight- line linkages (Peaucellier)




L=7,j1=7,j2=1
Tn=3(L_1)—2]1—]2
m=3(7-1)—2x7—1=3 DOF



L=4rj1=4fj2=0
m=3(L-1)-2j; —Jj,
m=3(4—-1)—2x4—-0=1 DOF

L=6,j1=7,j2=1
m=3(L—-1)—2j; —Jj;
m=3(6—1)—2xX7—1=0 DOF



L=3,1=2,j,=1
m =3(L—1) — 2§ — ju
m=3B3—1)-2X2—1=1 DAF

L=4,j,=3,j,=1since thereis slipping
m=3(L-1)-2j;, —J,
m=3(4-1)—2x3—-1=2 DOF



Find the mobility for the following mechanisms?

L=3;js =2;ja=1
m=3(3-1)—2x2—-1=1 DOF

n=>6
J1=5
J2=2
DOF=3



n=>6
Ji=6
I2=1
DOF=2

[Q

-

n=§

J1=8

J2=2 Note: you might consider the wheel as just 1 dof
DOF=3



n=10
J1=13
J12=0
DOF=1

L=9
J,=12
J,=0



[Given that: Link 2 = ~J2m,Link 3=3 m, Link 4= 1.5 m, Link 5=2 m]
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